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Note: Answer any FIVE FULL Questions
Sketch neat figures wherever necessary. Answer to the point. Good luck!
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1 (a) | State and explain Ohm’s law with an illustration. Also list its limitations [5] col | L2
(b) | For the circuit shown in figure ,Obtain the voltage between points X and Y
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2 (a) | Find the current in various branches of the given network
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(b) A circuit consist of two parallel resistors having resistances of 20 Q and 30 Q
respectively connected in series with a 15 Q resistor. If current through 15 Q [6] cot | L3
resistor is 3 A, find (i) current through the branches; (ii) voltage across whole
circuit; and (ii1) power consumed by 20 Q and 15 Q resistors
3 (a) | If the total power dissipated in the circuit is 18 W, find the value of R and its current
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(b)

Find the current supplied by each battery & power dissipated across 100Q resistor
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4 (a) | Calculate the current through the 2 Q resistor in the given circuit
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(b) [Find E1, E2 & | when power dissipated in 5 Q resistance is 125W.
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5 (a) |State and explain KVL and KCL with examples. [6] COol | L2
(b) |A current of 30A flows through two ammeters A and B in series. The potential
difference across A is 0.3V and across B is 0.6V. Find how the same current [4] COl | L3
will divide between A and B when they are in parallel.
6 Define average value and rms value of a sinusoid. Derive the expressions and (0] | coz | L3
obtain the form factor and the peak factor of the sinusoid.
7 The equation of an AC voltage & current are given as v(t) =100 sin(314t + 60°)
V| i(t) = 10 sin(314t) A, determine (i) peak current; (ii) average voltage;
(iii) frequency; (iv) time period; (v) RMS value of current; (vi) instantaneous | [10] | CO2 | L3
value of voltage at t = 3 ms; (vii) form factor; and (viii) phase difference
between voltage and current & state which one is leading
8(a) |Explain the terms (i) Time period (ii) Frequency (iii) Instantaneous value (iv) [5] co2 | L2

Amplitude (v) Angular Frequency of a sinusoidal alternating voltage.




(b)

Find the equivalent resistance across S and M in the given figure
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